Paper / Subject Code: 97083/ ECONOMICS: INDUSTRIAL AND LABOUR ECONOMICS

[Time: 2.30 Hours] [ Marks:80]

Please check whether you have got the right question paper.
N.B: 1. All questions are Compulsory.
2. All questions carry equal marks.

Q.1  Attempt Any Two of the following: (20)
a) What is Co-operation? Explain its features.
b) Discuss the problems of Public Sector.
c) Explain the motives of Merger.

Q.2  Attempt Any Two of the following: (20)
a) Discuss the determinants of Industrial Location.
b) Explain Weber's Theory-of Industrial Location.
c) Discuss Dispersion of Industries and the problem of Regional Imbalance.

Q.3  Attempt Any Two of the following: (20)
a) Discuss factors affecting Industrial’ Productivity.
b) Explain the causes and effects of Industrial Sickness.
c) Explain the concept and impact of Rationalisation.

Q.4  Attempt Any Two of the following: (20)
a) Discuss the New Industrial Policy, 1991.
b) Discuss the Micro, Small and Medium Enterprises/Development Act, 2006.
c) Explain the recent trends in India's Industrial Growth.
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